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Note :— Answers may be written either in English or in Hindi;

but the same medium should .be used throughout the

paper.
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Construct an E-R diagram for a car insurance company that has
a set of customers, each of whom owns one or more cars. Each
car has associated with it zero to any number of recorded

accidents. 10
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(@)  Define database normalization. What are the problems if

one were not to normalize ?
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(6) ~ What are the DBMS languages ? Explain. 2%
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What is the difference between serial and sequential.
files? What are the disadvantages of file-processing
system ?7
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Define the concept of aggregation. Give mwo examples

where this concept is useful.
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What is DDL ? Make a list of commands with short

description used in DDL.
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What is a newsgroup- ? How can you subscribe to
it ? : . 2x7
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(3tgan)
What is a web browser ? Discuss its functions.
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What do you mean by neat etiquette ? Enumerate the rules

of net etiquette to be followed by internet user. ~ 2x7
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